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Correlation matrix

Variables CM RO
CM 1.000 0.209
ROL 0.209 1.000




oodness of fit statistics

Observations 11.000
Sum of weights 11.000
DF 9.000
R2 0.044
Adjusted R? -0.062

MSE 56485983.074
RMSE 7515.716
MAPE 197.996
1.070

2.000

198.137

198.933

1.381




Standardized coefficients

Y1 / Standardized coefficients
(95% conf. interval)

Source CM
Value 0.209
Standard
error 0.326
t 0.642
Pr > [t| 0.537
Lower
bound (95%)
-0.528
Upper
bound (95%)
0.947




Regression of Y1 by X1 (R2=0.044)

50000

100000 150000 200000

250000

300000 350000

400

X1

Active

Conf. interval (Mean 95%)

Conf. interval (Obs. 95%)




Standardized residuals / X1
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Y1/ Standardized residuals
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Pred(Y1) / Standardized residuals
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Pred(Y1)/Y1
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Standardized residuals / Y1
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Normality Test
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Statistic Data Parameters

Mean 203464.818 203464.818
Variance 8114680725.964 8114680725.964
Skewness earson) 0.751 0.000
KUrtosIS (pearson) -0.916 0.000

i o D =0.248; p-value = 0.448; Alpha = 0.05

Smirnov test:
Test interpretation:

+HO: The sample follows a Normal distribution

+Ha: The sample does not follow a Normal distribution

+As the computed p-value is greater than the significance
level alpha=0.05, one cannot reject the null hypothesis HO

+The risk to reject the null hypothesis HO while it is true is
44.77%
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Statistic Data Parameters

Mean 10807.658 10807.658
Variance 53167253.655 53167253.655
Skewness earson) 0.060 0.000
KUrtosIS (pearson) -1.437 0.000

smime tesr. D = 0.120; p-value = 0.995; Alpha = 0.05

Smirnov test:
Test interpretation:

+HO: The sample follows a Normal distribution

+Ha: The sample does not follow a Normal distribution

+As the computed p-value is greater than the significance
level alpha=0.05, one cannot reject the null hypothesis HO

+The risk to reject the null hypothesis HO while it is true is
99.51%
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